
Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844300

Status : Answered

Chosen Option : 1

Q.2 'A # B' का अथŊ है िक 'A, B का िपता है'।
'A% B' का अथŊ है िक 'A, B की मां है'।
'A @ B' का अथŊ है िक 'A, B की बहन है'।
'A & B' का अथŊ है िक 'A, B का पुũ है'।
यिद 'G # M # T% S @ H & R & W @ U’ है, तो िनɻिलİखत मŐ से कौन सा कथन सही नही ं है?

Ans 1. G, T का दादा है।

2. R, T का पित है

3. W, H की नानी है।

4. M, S का नाना है।

Question ID : 65497843381

Status : Marked For Review

Chosen Option : 4
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Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843292

Status : Answered

Chosen Option : 4

Q.4 िदए गए िवकʙों मŐ से उस अƗर-समूह का चयन करŐ जो िनɻ Şंखला मŐ Ůʲिच˥ (?) के ̾थान पर आ
सकता है।

HDMS, OVVI, VNEY, CFNO, ?

Ans 1. JXWE

2. KXWE

3. JYWF

4. JXXF

Question ID : 65497843272

Status : Answered

Chosen Option : 1



Q.5

Ans

1. 

2. 

3. 

4. 

Question ID : 65497843392

Status : Answered

Chosen Option : 4

Q.6 यिद िचɎो ं'+' और '÷' को आपस मŐ बदल िदया जाए, तो िनɻिलİखत मŐ से कौन सा समीकरण संतुिलत
हो जाएगा?

Ans 1. 24 – 12 ÷ 6 + 3 = 20

2. 12 + 4 – 8 ÷ 3 = 11

3. 22 + 11 × 8 ÷ 3 = 19

4. 16 + 4 × 8 3 = 45

Question ID : 65497843289

Status : Answered

Chosen Option : 3



Q.7 A, B से 25 वषŊ छोटा है। 15 वषŊ बाद, B की आयु C की आयु की दोगुनी हो जाएगी। B की वतŊमान
आयु, C की वतŊमान आयु की तीन गुनी है। A की वतŊमान आयु िकतनी है?

Ans 1. 15 वषŊ

2. 25 वषŊ

3. 20 वषŊ

4. 30 वषŊ

Question ID : 65497843488

Status : Answered

Chosen Option : 3

Q.8 एक कूट भाषा मŐ, SOUP को TNVO के ŝप मŐ िलखा जाता है। उसी कूट भाषा मŐ BOWL को िकस
ŝप मŐ िलखा जाएगा?

Ans 1. APVM

2. CPVM

3. CNXK

4. ANVK

Question ID : 65497844586

Status : Answered

Chosen Option : 2

Q.9 एक िनिʮत कूट भाषा मŐ, 'your attention please' को 'puw cuw zuw' िलखा जाता है, 'kind
attention' को 'muw zuw' िलखा जाता है और 'please pay attention' को 'puw zuw ruw' िलखा
जाता है। उसी कूट भाषा मŐ 'pay' कोƐा िलखा जाएगा?

Ans 1. ruw

2. zuw

3. puw

4. cuw

Question ID : 65497843581

Status : Answered

Chosen Option : 1

Q.10 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻ ŵेणी मŐ Ůʲिच˥ (?) के ̾थान पर आ सकती है।

62, 74, 80, 86, 95, ?, 158

Ans 1. 122

2. 108

3. 113

4. 100

Question ID : 65497843586

Status : Not Answered

Chosen Option : --



Q.11 िदए गए चार अƗर-समूहो ं मŐ से तीन िकसी न िकसी Ůकार से समान हœ और एक असंगत है। उस असंगत
अƗर-समूह का चयन करŐ।

Ans 1. UWZBI

2. NPSWB

3. TVYCH

4. ACFJO

Question ID : 65497843577

Status : Answered

Chosen Option : 1

Q.12

Ans

1. 

2. 

3. 

4. 

Question ID : 65497843498

Status : Answered

Chosen Option : 4

Q.13 Select the correct option that indicates the arrangement of the given course of actions
in a logical and meaningful order.

1. Open email account
2. Compose email
3. Start computer
4. Enter email address
5. Write the content
6. Send the mail

Ans 1. 3, 1, 2, 6, 5, 4

2. 3, 1, 2, 4, 5, 6

3. 2, 5, 1, 3, 4, 6

4. 3, 2, 6, 1, 5, 4

Question ID : 65497844627

Status : Answered

Chosen Option : 2



Q.14 उस िवकʙका चयन कीिजए जो तीसरी संƥा से उसी Ůकार संबंिधत है िजस Ůकार दूसरी संƥा,
पहली संƥा से संबंिधत है।

52 : 91 : : 72 : ?

Ans 1. 98

2. 126

3. 109

4. 138

Question ID : 65497844295

Status : Answered

Chosen Option : 2

Q.15 यिद A 'जोड़' को, B 'गुणा' को, C 'घटाना' को और D 'भाग' को दशाŊता है, तो िनɻिलİखत ʩंजक का
मान िकतना होगा?

46 C (6 A 7) B 5 A 24 D 6 B (27 D (9 D 3))

Ans 1. 39

2. 17

3. 65

4. 21

Question ID : 65497843389

Status : Answered

Chosen Option : 2

Q.16

Ans

1. 

2. 

3. 

4. 

Question ID : 65497843596

Status : Answered

Chosen Option : 4



Q.17 P, Q, R, S, T, U, V और W नाम के आठ उȅर-मुखी रेˑरां एक सीधी पंİƅ मŐ İ̾थत हœ। S, T के बायŐ
दूसरे ̾थान पर है। W, P के बायŐ तीसरे ̾थान पर है। T ठीक P और V के बीच मŐ है। S, V के बायŐ तीसरे
̾थान पर है। W, U के ठीक दायŐ पड़ोस मŐ है। R, P के दायŐ तीसरे ̾थान पर है। S के दायŐ चौथे ̾थान पर
कौन सा रेˑरां İ̾थत है?

Ans 1. V

2. R

3. W

4. U

Question ID : 65497843382

Status : Answered

Chosen Option : 2

Q.18 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िचɎ (?) के ̾थान पर आ
सकती है।

16, 35, ?, 217, 653, 1309

Ans 1. 72

2. 77

3. 128

4. 107

Question ID : 65497843284

Status : Answered

Chosen Option : 4

Q.19

Ans
1. 

2. 

3. 

4. 

Question ID : 65497843395

Status : Answered

Chosen Option : 4



Q.20

Ans

1. 

2. 

3. 

4. 

Question ID : 65497844305

Status : Answered

Chosen Option : 3



Q.21 िदए गए कथनो ंऔर िनʺषŘ को ȯानपूवŊक पढ़Ő। यह मानते Šए िक कथनो ं मŐ दी गई जानकारी सȑ है,
भले ही वह सामाɊ ŝप से ǒात तȚो ं से िभɄ Ůतीत होती हो, तय करŐ िक िदए गए िनʺषŘ मŐ से कौन
से िन̽कषŊ कथनो ं का तािकŊ क ŝप से अनुसरण करते हœ।

कथन:
सभी फल, पȅे हœ।
कुछ आम, सड़े हœ।
सभी सड़े, फल हœ।

िनʺषŊ:
I. कुछ पȅे, सड़े हœ।
II. कुछ आम, फल हœ।
III. सभी पȅे या तो सड़े हœ या आम हœ।

Ans 1. केवल िनʺषŊ II अनुसरण करता है

2. सभी िनʺषŊ अनुसरण करते हœ

3. केवल िनʺषŊ II और III अनुसरण करते हœ

4. केवल िनʺषŊ I और II अनुसरण करते हœ

Question ID : 65497843282

Status : Answered

Chosen Option : 4

Q.22 अƗरो ं के उस संयोजन का चयन करŐ िजसे दी गई Şंखला के įरƅ ̾थानो ं मŐ Ţिमक ŝप से रखे जाने पर
वह Şंखला को पूणŊ करेगा।

C _ BN _ _ V_ _ H C _ B _ H

Ans 1. VHBNCHV

2. HVCNBVN

3. VCBHNVN

4. VHCBNVN

Question ID : 65497844589

Status : Answered

Chosen Option : 4

Q.23 एक कूट भाषा मŐ, यिद PEN को 17717 िलखा जाता है, तो उसी भाषा मŐ CAP को ̋या िलखा जाएगा?
Ans 1. 4319

2. 2320

3. 4219

4. 2319

Question ID : 65497844287

Status : Answered

Chosen Option : 1



Q.24 उस िवकʙका चयन करŐ जो तीसरे पद से उसी Ůकार संबंिधत है िजस Ůकार दूसरा पद पहले पद से
संबंिधत है।

FRONTIER : GSNOUHDS :: CLOSING : ?

Ans 1. DMNTHOH

2. DMNRHLH

3. DKNTJOH

4. BMPTHOH

Question ID : 65497843477

Status : Answered

Chosen Option : 1

Q.25 िन̱नांिकत पैटनŊ का ȯानपूवŊक अȯयन करŐ और िदए गए िवकʙों मŐ से उस संƥा का चयन करŐ जो
इसमŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ सकती है।

11 15 9
14 16 ?
75 31 88

Ans 1. 13

2. 25

3. 18

4. 22

Question ID : 65497843590

Status : Answered

Chosen Option : 1

Q.1 िनɻिलİखत मŐ से िकसने सबसे पहले यह तकŊ िदया िक उǄ घाटे की İ̾थित मŐ लोग अिधक बचत करते
हœ?

Ans 1. अमȑŊ सेन

2. एˑेर डुɢो

3. डेिवड įरकाडŖ

4. एडम İ˝थ

Question ID : 65497844309

Status : Not Answered

Chosen Option : --

Q.2 िनɻिलİखत मŐ से िकस राजवंश के शासन काल मŐ तैमूर या तामेरलेन ने 1398 ई. मŐ भारत पर आŢमण
िकया था?

Ans 1. İखलजी वंश

2. तुगलक वंश

3. गुलाम वंश

4. सैʊद वंश

Question ID : 65497843312

Status : Answered

Chosen Option : 2

Section : General Awareness



Q.3 भारतीय संिवधान के िनɻिलİखत मŐ से िकस संशोधन ने घोिषत िकया िक संसद के पास अनुǅेद 368
के तहत िकसी भी मौिलक अिधकार को कम करने या हटाने की शİƅ है और ऐसा अिधिनयम,
अनुǅेद 13 के तहत कानून नही ं होगा।

Ans 1. तेईसवŐ संशोधन

2. बीसवŐ संशोधन

3. चौबीसवŐ संशोधन

4. अǧाईसवŐ संशोधन

Question ID : 65497843419

Status : Answered

Chosen Option : 2

Q.4 िनɻिलİखत मŐ से कौन सा फूल का एक भाग नही ं है?

Ans 1. पु˃-वंृत

2. बा˨दल

3. ͕̾ीकेसर

4. पंुकेसर

Question ID : 65497843302

Status : Answered

Chosen Option : 2

Q.5 पृțी की सतह पर कुल पानी का लगभग िकतना Ůितशत (िनकटतम पूणाōक तक) महासागरो ं मŐ संिचत
है?

Ans 1.  94

2.  92

3.  97

4.  96

Question ID : 65497843409

Status : Answered

Chosen Option : 3

Q.6 िनɻिलİखत मŐ से कौन सा नृȑ ŝप यूनेˋो Ȫारा माɊता Ůाɑ है?

Ans 1. िगȞा

2. कालबेिलया

3. डालखाई

4. भांगड़ा

Question ID : 65497843600

Status : Answered

Chosen Option : 2



Q.7 िनɻिलİखत मŐ से कौन सा पयाŊवरणीय उȖव घरो,ं ʩावसाियक Ůितʿानो ंऔर अɊ िविभɄ ̾थलो ंआिद
की सभी लाइटो ं को एक घंटे तक बंद करके मनाया जाता है?

Ans 1. अथŊ चाटŊर

2. पृțी िदवस

3. अथŊ आवर

4. िवʷ पयाŊवरण िदवस

Question ID : 65497843507

Status : Answered

Chosen Option : 3

Q.8 िवशेष ŝप से उमस भरी गमŎ के दौरान शरीर से िनकलने वाली दुगōध पसीने पर ______ की िŢया के
कारण होती है।

Ans 1. नमी

2. जीवाणुओं

3. मेलािनन

4. िवषाणुओं

Question ID : 65497843509

Status : Answered

Chosen Option : 3

Q.9  Which of the following diseases CANNOT be prevented by vaccination?

Ans 1.  Beri beri

2.  Typhoid

3.  Measles

4.  Rabies

Question ID : 65497843407

Status : Answered

Chosen Option : 1

Q.10 िनɻिलİखत मŐ से िकसे जनवरी 2021 मŐ एिशयाई िŢकेट पįरषद (ACC) का अȯƗ चुना गया था?
Ans 1. सिचन तŐदुलकर

2. सौरव गांगुली

3. जय शाह

4. अनुराग ठाकुर

Question ID : 65497843415

Status : Answered

Chosen Option : 2



Q.11 2021-22 के कŐ ūीय बजट के अनुसार, 3 वषŘ मŐ िकतने टेƛटाइल पाकŊ ̾थािपत िकए जाने हœ?
Ans 1. आठ

2. सात

3. पांच

4. छ:

Question ID : 65497843402

Status : Answered

Chosen Option : 3

Q.12 ओजोन ______ का एक अपŝप है।
Ans 1. काबŊन डाइऑƛाइड

2. ऑƛीजन

3. नाइटŌ ोजन

4. हाइडŌ ोजन

Question ID : 65497844314

Status : Answered

Chosen Option : 2

Q.13 पीआईबी (PIB) Ȫारा भारत के सकल घरेलू उȋाद (GDP) का मूʞ ______ मŐ Ůकािशत िकया जाता है
।

Ans 1. येन

2. भारतीय Ŝपये

3. युआन

4. अमेįरकी डॉलर

Question ID : 65497843502

Status : Answered

Chosen Option : 2

Q.14 भारतीय संिवधान के 100वŐ संशोधन को मंजूरी, िनɻिलİखत मŐ से िकस भारतीय रा Ō̓ पित ने दी थी?
Ans 1. ए पी जे अɨुल कलाम

2. Ůणब मुखजŎ

3. Ůितभा देवीिसंह पािटल

4. राम नाथ कोिवंद

Question ID : 65497844327

Status : Answered

Chosen Option : 2

Q.15 िनɻिलİखत मŐ से कौन रा Ō̓ कूट वंश का शासक था?
Ans 1. समुūगुɑ

2. Ŭुव

3. अशोक

4. किनʺ

Question ID : 65497843614

Status : Answered

Chosen Option : 2



Q.16 Ɋूटन का िनɻिलİखत मŐ से कौन सा िनयम बल की पįरमाणाȏक पįरभाषा देता है?

Ans 1. सावŊिũक गुŜȕाकषŊण का िनयम

2. गित का पहला िनयम

3. गित का तीसरा िनयम

4. गित का दूसरा िनयम

Question ID : 65497843606

Status : Answered

Chosen Option : 4

Q.17 िनɻिलİखत मŐ से िकस एथलीट को फरवरी 2021 मŐ असम सरकार Ȫारा पुिलस उपाधीƗक के पद पर
िनयुƅ िकया गया था?

Ans 1. िहमा दास

2. एकता ̰यान

3. दुतीचंद

4. दीिपका कुमारी

Question ID : 65497843320

Status : Answered

Chosen Option : 1

Q.18 िमशन सागर-IV के एक िहˣे के ŝप मŐ, भारतीय नौसेना का जहाज जलाʷ 14 माचŊ 2021 को अंजुआन
बंदरगाह, कोमोरोस मŐ 1000 मीिटŌक टन ______ की आपूितŊ करने पŠंचा।

Ans 1. चाय

2. चीनी

3. चावल

4. गेšँ

Question ID : 65497843518

Status : Answered

Chosen Option : 3

Q.19 िनɻिलİखत मŐ से िकस फसल का वणŊन इस Ůकार िकया गया है - 'यह एक ऐसी फसल है िजसका
उपयोग भोजन और चारे दोनो ं के ŝप मŐ िकया जाता है। यह एक खरीफ की फसल है िजसे 21°C से
27°C के बीच तापमान की आवʴकता होती है और यह पुरानी जलोढ़ िमǥी मŐ अǅी तरह से बढ़ती है?

Ans 1. मſा

2. बाजरा

3. ितल

4. रागी

Question ID : 65497843309

Status : Not Answered

Chosen Option : --



Q.20 2020 का सािहȑ नोबेल पुरˋार ______ को Ůदान िकया गया था।
Ans 1. काज़ुओ इिशगुरो

2. लुईस Ƹूक

3. पीटर हœडके

4. ओʎा टोकाज़ुŊक

Question ID : 65497844325

Status : Answered

Chosen Option : 1

Q.21 रा Ō̓ ीय राजधानी Ɨेũ िदʟी सरकार (संशोधन) िवधेयक, 2021, िजसे माचŊ 2021 मŐ पाįरत िकया गया
था, के Ȫारा रा Ō̓ ीय राजधानी Ɨेũ िदʟी सरकार अिधिनयम,______ मŐ संशोधन िकया गया।

Ans 1.  1991

2.  1996

3.  1998

4.  1994

Question ID : 65497843622

Status : Answered

Chosen Option : 1

Q.22 देवमाली ______ की सबसे ऊंची पवŊत चोटी है।
Ans 1. पिʮम बंगाल

2. असम

3. िबहार

4. ओिडशा

Question ID : 65497843613

Status : Answered

Chosen Option : 4

Q.23 िनɻिलİखत मŐ से कौन सा हड़ɔा ̾थल हįरयाणा मŐ है?

Ans 1. राखीगढ़ी

2. कालीबंगा

3. लोथल

4. धोलावीरा

Question ID : 65497844323

Status : Answered

Chosen Option : 1



Q.24 िनɻिलİखत मŐ से िकस शहर ने िदसंबर 2020 मŐ 2030 मŐ होने वाले एिशयाई खेलो ं की मेजबानी के
अिधकार जीते हœ?

Ans 1. जकाताŊ

2. िसयोल

3. शंघाई

4. दोहा

Question ID : 65497843523

Status : Not Answered

Chosen Option : --

Q.25 मे-दम-मे-फी (Me-Dum-Me-Phi) पूवŊजो ं की पूजा का एक उȖव है। यह ______ राǛ मŐ मनाया जाता
है।

Ans 1. असम

2. मȯ Ůदेश

3. िहमाचल Ůदेश

4. गोवा

Question ID : 65497843298

Status : Answered

Chosen Option : 3

Q.1

Ans
1. 

2. 

3. 

4. 

Question ID : 65497843442

Status : Answered

Chosen Option : 4

Section : Quantitative Aptitude



Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843322

Status : Answered

Chosen Option : 1

Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843429

Status : Answered

Chosen Option : 4

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843432

Status : Answered

Chosen Option : 3

Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844350

Status : Answered

Chosen Option : 2



Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843546

Status : Answered

Chosen Option : 3

Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844345

Status : Answered

Chosen Option : 2

Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843544

Status : Answered

Chosen Option : 3



Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843639

Status : Answered

Chosen Option : 4

Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843337

Status : Answered

Chosen Option : 4

Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844342

Status : Answered

Chosen Option : 4



Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843526

Status : Answered

Chosen Option : 3

Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843435

Status : Answered

Chosen Option : 3

Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844645

Status : Answered

Chosen Option : 3



Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844050

Status : Answered

Chosen Option : 1

Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844339

Status : Answered

Chosen Option : 1



Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842739

Status : Answered

Chosen Option : 1

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843633

Status : Answered

Chosen Option : 3

Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844348

Status : Answered

Chosen Option : 1



Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843649

Status : Answered

Chosen Option : 4

Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843440

Status : Answered

Chosen Option : 1

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844336

Status : Answered

Chosen Option : 4



Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843525

Status : Answered

Chosen Option : 3

Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844647

Status : Answered

Chosen Option : 1

Q.25

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843327

Status : Not Answered

Chosen Option : --

Q.1 Select the most appropriate meaning of the given idiom.

To take after

Ans 1. To mock someone

2. To be similar in appearance

3. To chase someone

4. To change sides often

Question ID : 65497843367

Status : Answered

Chosen Option : 2

Section : English Comprehension



Q.2 Select the option that expresses the given sentence in reported speech.

Mother said, “Abhinav slipped while trying to board a bus.”

Ans 1. Mother says that Abhinav slipped while trying to board a bus.

2. Mother said that Abhinav slipped while trying to board a bus.

3. Mother told that Abhinav slipped while trying to board a bus.

4. Mother said that Abhinav had slipped while trying to board a bus.

Question ID : 65497843662

Status : Answered

Chosen Option : 4

Q.3 Select the INCORRECTLY spelt word.

Ans 1. Symtoms

2. Pilgrim

3. Progress

4. Mystery

Question ID : 65497844381

Status : Answered

Chosen Option : 1

Q.4 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. However, when areas in Leh began to experience water shortages, life didn’t grind
to a halt.
B. Ladakh is a cold desert with a low average annual rainfall.
C. Thus, glaciers have been the main source of water for the people.
D. This was because Chewang Norphel, a retired civil engineer came up with the idea
of artificial glaciers.

Ans 1. BCDA

2. CBDA 

3. DABC

4. BCAD 

Question ID : 65497843564

Status : Answered

Chosen Option : 4

Q.5  Select the option that expresses the given sentence in active voice.

Hatred can be overcome by love.

Ans 1. Love has overcome hatred.

2. Love can overcame hatred.

3. Love is overcoming hatred.

4. Love can overcome hatred.

Question ID : 65497843553

Status : Answered

Chosen Option : 4



Q.6 Select the most appropriate synonym of the given word.

DUO

Ans 1. Loan

2. Bond

3. Pair

4. Debt

Question ID : 65497843565

Status : Answered

Chosen Option : 3

Q.7 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

He was / late / for school / and punished.

Ans 1. He was

2. and punished

3. late

4. for school

Question ID : 65497844359

Status : Answered

Chosen Option : 4

Q.8 Select the most appropriate ANTONYM of the given word.

Appal

Ans 1. Assure

2. Astound

3. Amaze

4. Alarm

Question ID : 65497843365

Status : Answered

Chosen Option : 1

Q.9 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

It was a surprising / to receive the gift/ from my brother.

Ans 1. from my brother

2. It was a surprising

3. No error

4. to receive the gift

Question ID : 65497843563

Status : Answered

Chosen Option : 2



Q.10 Select the most appropriate meaning of the given idiom.

Foul play

Ans 1. Unfair or dishonest behaviour

2. A drama which is badly produced

3. Unpleasant weather for playing

4. A bad smelling theatre or playground

Question ID : 65497843671

Status : Answered

Chosen Option : 1

Q.11 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

The fisheries sector / have grown significantly / in the last one year.

Ans 1. The fisheries sector

2. No error

3. have grown significantly

4. in the last one year

Question ID : 65497844055

Status : Answered

Chosen Option : 3

Q.12 Select the most appropriate option to fill in the blank.

She hardly works on weekends, ______?

Ans 1. isn’t she

2. is she

3. doesn’t she

4. does she

Question ID : 65497843473

Status : Answered

Chosen Option : 4

Q.13 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

My house / is more / spacious than / my sister.

Ans 1. spacious than

2. My house

3. is more

4. my sister

Question ID : 65497843653

Status : Answered

Chosen Option : 4



Q.14 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

I wish I were listening to my parents.

Ans 1. have listened

2. had listened

3. No substitution required

4. am listening

Question ID : 65497843360

Status : Answered

Chosen Option : 2

Q.15 Select the most appropriate ANTONYM of the given word.

Rely

Ans 1. Await

2. Move

3. Distrust

4. Depend

Question ID : 65497843669

Status : Answered

Chosen Option : 3

Q.16 Select the option that can be used as a one-word substitute for the given group of
words.

Formally put an end to a system, practice, or institution

Ans 1. Kill

2. Destroy

3. Abolish

4. Stop

Question ID : 65497844379

Status : Answered

Chosen Option : 3

Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

Indifferent to pleasure and pain

Ans 1. Lusty

2. Stoic

3. Cynic

4. Prudent

Question ID : 65497843471

Status : Answered

Chosen Option : 2



Q.18 Select the most appropriate synonym of the given word.

Paranoid

Ans 1. Committed

2. Convinced

3. Trustful

4. Distrustful

Question ID : 65497844374

Status : Answered

Chosen Option : 4

Q.19 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

My older brother,/ which you’ll / meet later,/ is a dentist.

Ans 1. which you’ll

2. My older brother

3. is a dentist

4. meet later

Question ID : 65497842641

Status : Answered

Chosen Option : 1

Q.20 Select the option that expresses the given sentence in passive voice.

Do you trust me?

Ans 1. Do I was trusted by you?

2. Am I trusted by you?

3. Do I am trusted by you?

4. I am trusted by you.

Question ID : 65497844362

Status : Answered

Chosen Option : 2



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

An old man lived in the village. He was one of the (1) ______ unfortunate people in the world.
The whole village was tired (2) ______ him; he was always gloomy, he (3) ______
complained and was always in a bad mood. The (4) ______ he lived, the more vile he was
becoming and the more (5) ______ were his words.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans 1. main

2. utmost

3. most

4. maximum

Question ID : 65497843455

Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

An old man lived in the village. He was one of the (1) ______ unfortunate people in the world.
The whole village was tired (2) ______ him; he was always gloomy, he (3) ______
complained and was always in a bad mood. The (4) ______ he lived, the more vile he was
becoming and the more (5) ______ were his words.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans 1. at

2. by

3. from

4. of

Question ID : 65497843456

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

An old man lived in the village. He was one of the (1) ______ unfortunate people in the world.
The whole village was tired (2) ______ him; he was always gloomy, he (3) ______
complained and was always in a bad mood. The (4) ______ he lived, the more vile he was
becoming and the more (5) ______ were his words.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans 1. mostly

2. cyclically

3. commonly

4. constantly

Question ID : 65497843457

Status : Answered

Chosen Option : 4



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

An old man lived in the village. He was one of the (1) ______ unfortunate people in the world.
The whole village was tired (2) ______ him; he was always gloomy, he (3) ______
complained and was always in a bad mood. The (4) ______ he lived, the more vile he was
becoming and the more (5) ______ were his words.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans 1. long

2. lengthy

3. longest

4. longer

Question ID : 65497843458

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

An old man lived in the village. He was one of the (1) ______ unfortunate people in the world.
The whole village was tired (2) ______ him; he was always gloomy, he (3) ______
complained and was always in a bad mood. The (4) ______ he lived, the more vile he was
becoming and the more (5) ______ were his words.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans 1. fatal

2. poisonous

3. mortal

4. toxic

Question ID : 65497843459

Status : Answered

Chosen Option : 4
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